Finite di#ereace apyroximation
gu//?’é‘}e. ) =x"
| The derivetive is £ie) =3x"
Atsesue =900 %
|14 we compete 1) do the rightomt let-?
A e )EZEa//y Spaced, we (an Gpproximte

, '/’/42.’ J‘/cpe : I:Xc?/"r//’f are :'Aawn /,'e/éw)
fw;‘ﬂn //aﬁrejs‘//e/y J’mC;//fr sﬂﬁt;’“qj agrowad X =1,5.

1 ; : 3 ?
Y f(20)-10c) - ()= 1) - 5
|| X=1.) ~ 2.0 -).0o , O Jffﬂrc 2~} i
| Lf/Z,?Wike
7 £C7)=+Cii2r) : (;,7r’)3~0,zr)3
o -~ - v Jr
|| £ (x> hr) ® Ty é.f’) Sinte L7512
e 5.3é"" /,ff
o5

o 3 7
(s FC16) = £Che) = 6,76 since () ~L10)
H 1[ (X;,'r) = iié_,‘l'f : /1@"/:‘1

(=




F:;VVM//\/ , @ centered finte diterence
Caqn baz. i«t/rfﬂt’iv ay |

A Cxrax) = Ly-4x)

2 -
1L [Y) 2 AX

o
11

/4_5 AX g,e"‘s“ fnm//?r, 7%6 ﬁ/;‘pmx{héf/‘oh
7[‘3#" f’j["). 98'7':)’ more 4ctvvsfe, This i3
Consisteat with 7"[,5-, ‘érma/ de ﬁ“ni'f/@n mf
the devivative



